INSTALLATION

=]
) . .’ |‘~II|
£

INSTALLATION INSTRUCTION
AUFBAUANLEITUNG

MONTERINGSANSVISNING
NOTICE D’

ASENNUSOHJE
DATE: 27.5.2021

% LAPPSET.

THEME
Q15381

Mﬁl\ \N.\b.

N ] eIy (2
NS ?% Y [ —

py7] dnous 3jesddpT jybrhdon



s LAPPSET.

Q15381

1(

N
~—

THEME DATE: 27.5.2021
003894 |pcs 702286 |pcs 702339 |pcs 705211  |pcs 705214  |pcs 705221  |pcs
- SR iR m 2 2
= 65x65 118x78 45x145x724 45x145x724 93x93x2446
705230 |pcs 705237 |pcs 705239 |pcs 705258 |pcs 705270 |pcs 705308 |pcs
3 9 2 1] 1
— — — — I’ — —
= 93x93x3138 93x93x2850 = =
705310 |pcs| 705375 705506 |pcs PCS 706531 |pcs| 707665 |pcs
S (1] T 6| ) =N
& | |es
N7
o u |1 | o
=
708370 |pcs 708407 |pcs 708469 |pcs 70847 pcs| 708474  |pcs
19| W 2| mm 2| 1| 1]
28x200x1100 690x704 93x93x200
708645 |pcs 708670 |pcs| 708694 |pcs 708695 |pcs 708697 |pcs 708701 |pcs
@ ) % T >§§§§< T / T / T ?
730x2405
708709 |pcs 708746 |pcs| 708873 |pcs| 708874 |pcs 708879 |pcs| 708884 |pcs
1 2 2 b o |1 1
s — — — — — —
j 32x400x840 L 724 28x200x1100 28x200x1100 705x940 45x374x591
3 708885 |pcs| 708906 |pcs| 708923 |pcs| 709037 |ecs| 709052 709145-303
2 El Y S 2
% I I I I
&
it
g I I I I
§ 45x374x591 45x145x372 28x350x850 93x93x1720




s LAPPSET. Q15381 2(2)

THEME 3
DATE:  27.5.2021 d

709649—-303|pcs 900240 |pcs 903093 |pcs| 908207—216|pcs 909511 PCS 909519 |pcs
2 100 134 1 14 14
@16x705 @8x70 @8x90
980100 |pcs 980101 PCS 980110 PCS 980114 |pcs 980123 |pcs 980128 |pcs
116 4 8 14 37
m‘m‘»"“"ﬁm )‘\\\\\\\\\\\m‘\\'
®
@5x60 24,5x70 D4x35 @4x20 @7x60 @7x40
P03442 |pcs P14194  |pcs P14201 P14993—703|pcs PO0O00O1 |pcs
1 2
'\ X \'\ .
= =
YELLOW
PP0309 |pcs| 909256 |pcs PCS PCS PCS PCS
\ 1 66
\
@16 /8.4x1.6
PCS PCS PCS PCS PCS PCS
PCS PCS PCS PCS PCS PCS
pel I I I I I I
]
§ PCS PCS PCS PCS PCS PCS
5 il il il il il il
*g i i i i i —
Ql
Q.
S
5
=Y i i i i i —
8
(@]




0oLg9

008

\J

an

800

4|
A\

Ty
W
A

i

27.5.2021
2400

100

|
008 | 0001

O
A
\

i
Q-

D Q
11320

800,800
500

i

600

Q15381

DATE:

150

S
N

2590

0Stv

EN/AS Impact Area 49.2 m2

s LAPPSET.

THEME

p3}7] dnoug 3jasddpT jybrhdon



4A

27.5.2021

Q15381
DATE:

s LAPPSET.

THEME

009 Voo
S Se o0
s o
<~
. ~N
N -
. d
X h
009 o
O “a o &g
< N 28
X i
M~ 2%
SIS -
@ \ 32
N P 53
.. ax

905104

p1}7 dnoug 3jesddoT yybrhdon



s LAPPSET.

THEME

Q15381

DATE: 27.5.2021

Copyright Lappset Group Ltd

EN/AS Impact Area 49.2 m2

Falling Space 49.5 m2

Max Falling Height 1970 mm

1:100

7560

1500

3170

1430

6310

6380

11320

Sm




SA

ovclL

0¢L (VA 4%

0S8

Max Falling Height

+4290
+1970

+0

27.5.2021

Q15381

DATE:

+0

+1470

s LAPPSET.

THEME

p3}7 dnoug 3jasddpT jybrhdon



Q15381

DATE:

s LAPPSET.

THEME

27.5.2021

708645
DET 5

+

AV AN A

— )

,‘// NSALNTT Vv

R / é\h. >//< \\M w .w\‘
AN AN

e

|||ll

p— 5
/Y )
g J
g g
K \\
o\. \ yp 1\

A
q
o ———— o — .‘v&_

YA <>\\

A 4

40@

KO@@

DET 3

ANS

AN

b

708884 708746

708670

,~

NS\ \\?\ / \
,47////’/%\///\ AN

\| |.

L IEON

‘\\\\\\7\\ B

p3y7] dnoug 3jasddpT jybrhdon



s LAPPSET.

Q15381

Copyright Lappset Group Ltd

THEME 6
DATE: 27.5.2021 A
DET 1 DET 2 DET 3 DET 4
EB%M?oom 705211. (903093) 4.5x70
2 e iattia puomin 705211
a ——
DET 5 DET 6 DET 7/ DET 8
Line up edges
28x90 L
(903093) : :
/x40
DET 9 DET 10 DET 11 DET 12
28x70
28x90 gmoj
4ox60 D4x35 )
o — '
e 20
\
DET 13 DET 14
?8x90 .
903093 27x40  N\L_ .
— ) 97160, =
l
DET 17 DET 18 Same level DET 19 @16 /8.4x1.6
Pre drilling i § \ l (909256)x3
o N
s 903093 SN
thﬁ L
N @7x40
Top of beam (980'] 28)




Copyright Lappset Group Ltd

= LAPPSET.

FLORA

Q15381

DATE:

27.5.2021

INSTALLING BRIDGE

Drill preholes (9mm)

before installing




<M
5 ; N
Lo @Y @ ®c
o ™~ 2o \ / Q
- O o
© o
()
0
————————— -I&oé 3 m
4.\%'/‘ ,‘.,CI e .2
- D \N/VE N R d =2 s
; o ) —_————————>
R/ OW o i
I\ Z RN\ -/ — % S, p——— 1l
- @ ||~F|4,“!§!II§. — N T o e — & 9
o 3 IR — U 5 RN Va i Y 2
I/ VAR N\ S %) " | S
-II_LAV &) — N/ * »
N3, \///’\ _
VAN :
T® — . —— B W
E (e}
o :
& O
,, o
- , 5 N B x S
> HECHE O ®© @ @&
. = =

p3y7] dnoug 3jasddpT jybrhdon



s LAPPSET.

THEME

Q15381

TOWER A

7a

DATE: 27.5.2021
@ 1:50
+3140
+3100 .
_ +2850

+2590 +2540
+1370

+0

100

1

600

1

+2850

+2090

+1370

+460

+0 |

Copyright Lappset Group Ltd




s LAPPSET.

Q15381

Copyright Lappset Group Ltd

TOWER B
THEME DATE:  27.5.2021 7b
70523
(BEAMS
2x
705511 @
2%
705237
4x
909511
4x . B
\/
909519 /\A
4x D
DET 10
|
* A
/ N\QE!J DET 6 @
Il!"imlw LZ
DET 2 “'f.r‘!';ﬂli!i)‘/’l 1
')/‘ 'z 702286
L TG
709649 '\’i“{? !,/!, 708407
L P,
ralll 6—-3»
U > -
DET 14

DET 12




s LAPPSET.

THEME

Q15381

DATE:

27.5.2021

TOWER B

7c

A

1:50

+3140

Copyright Lappset Group Ltd

42590
+1870 +1870
{ +0 o
I
3 (@)
S g SL 3
+2620
o
[\p]
230 S0 r +1870
[
+1480
+1210
+900
+530
+240
+0 +0
3 (@]
e H 8“ g g




Copyright Lappset Group Ltd

s LAPPSET.

THEME

Q15381

DATE:

27.5.2021

P03442

708374
708370
DET 9

4

—_——e
el L
=7

=

—Cre—7 7

//7

(72 O

74
§—
/(17

iﬁ%@h;

24
/@

A
7 ’\ N / /’k'_‘/
\%é‘\\\?}-/"/%ﬂ

DET 6

'f
A

S — T g WY

A\

SN EL)
\VE—

N

————————

s
a1
D

DET 19

4@@%§§§?§‘, —~
R NE ——— =,

PP0309
003894
708874

DET 6

708885

‘r
708923




Copyright Lappset Group Ltd

& LAPPSET. Q15381

THEME 8
DATE:  27.5.2021 d

. — ————1

A
B

— &= &

— |

|

' Q

|
@708695

/ /
; ég%%zé__ﬁs!%/i/z -
e/~ %

DET 7-8




Copyright Lappset Group Ltd

% LAPPSET.

FLORA

705258

DATE: 24.5.2022

1(1)

(1) 706443

7

32x45x702

Pes|(2) 705257 |pes

32x750x750

(3) 900240

LCS@ 980101 |pcs

@8x70 @4.5x70
£ ¢ | | | |
o
3
£3 3%
800
DET 1 DET 2 DET 3
4.5x/0
QN
/064453 M

N\

@3x/0

(i
N\

\

=4

NOTE:

Same plane.
HUOM:
Samassa
tasossa.




Copyright Lappset Group Ltd

% LAPPSET.

705270

FINNO DATE: 6.6.2014 1(2)
I I (1) 705260 [pcs|(2) 903093 [Pes|
DET 3 < ] o]
| esxe0 | ]
/ PCS PCS
é DET 1 ] ]
\ PCS PCS
DET 2 N N
q i P
PCS PCS
+2190 - -
PCS PCS
+1470
PCS PCS
PCS PCS
+0 B B




Copyright 1998 Lappset Group Ltd

% LAPPSET.

705270

FINNO DATE: 6.6.2014 2(2)
DET 1 DET 2 DET 3
x @8x90
\%
)
?8x90
(903093)
705260 (903093)
705260




Copyright Lappset Group Ltd

% LAPPSET.
FLORA

705308

DATE:

16.5.2016

1(5)

670

1470

1370

(1) 705307 |pes|(2) 901879 |pcs|
/ 1 2]
(3) 707133 |pes|(a) 901868 |pcs|
] 2]

‘ 10x80x745 ?30x598
(5) 909210 |pes|(6) 905051 |pes
4 | 4

e
M8x40 924/8.4 | |
(@) 980128 |pcs] pos|
T H B
o7x40 | | B

2590




Copyright 1998 Lappset Group Ltd

% LAPPSET.

705308

FLORA DATE: 16.5.2016 2(5)
DET 2
90187/9 O7x40
/ /@T@g)
Insert sheet metal IN to the
plastic cover.
“3\ ﬁl
2000 §
.3‘ =
4610




3% LAPPSET
FLORA

705308

16.5.2016 3(5)

DET 3

M8x40
(909210)

024 /8.4
(905051)

9018638

DET 4 901868

/07133

(905051)
MEx40

(909210)

Copyright 1998 Lappset Group Ltd




4(5)

16.5.2016

705308

DATE:

% LAPPSET
FLORA

P31 dnoug jesddo] @661 1yblikdod




8 LAPPSET 705308
FLORA DATE: 16.5.2016 5(5)

Copyright 1998 Lappset Group Ltd

.
i

NSRS QQQQQQQ

2 Q a MEROR U
/00x200x100
CONCRETE
. /700 _




Copyright Lappset Group Ltd

% LAPPSET.
FLORA

705310

DATE:

20.5.2015

1(2)

L]

755

25

(1) 705245 |pes|(2) 980104 |pes
A1 iE
| /

.e’
\ - -
53x119x754 25x90

(3) 901868 |pcs|(4) 909867 |pes

/ 1] 2]

034x598 | | Mex70 | |

(5) 999561 |[pcs| Pes
. 1

O

L

I
GLUE

10 g




Copyright 1998 Lappset Group Ltd

% LAPPSET.
FLORA

705310

DATE: 20.5.2015

2(2)

DET 1 DET 2

NOTE:

Chamfers of the pole and

narrower must be mounted

in the same direction.

HUOM- /05221

Tolpan ja kaventajan viisteet

tdytyy asentaa saman suuntaan.

@5x90
N 901868
/05245 ]

DET 3 DET 4

90986/

12




Copyright Lappset Group Ltd

% LAPPSET. 705375

FLORA DATE: 30.1.2018 1(2)

(1) 701092 |pes|(2) 705331 |pcs

15x120x700 45x645x1670
(3) 705363 |pcs|(4) 705373 |pcs

N

L 2120 95x1005x1365
(5) 705374 |pcs|(6) 900240 |pcs

DET 1, 3, 4 \

o
(93
[%]

95x1005x1369 28x70
(7) 909256 |pes|(8) 909855 |pes
DET 6 4 4]
)
S| |

216/8.4x1.6 | | M8x35 | |

(9) 980107 |pes|i0) 980123 [pcs|

13 4

S — —

P
@6x60 | | @7x60 | |
(1) 980128 |pcs| pes
5

. ° ] -

‘ o7x40 | | B

33 o) P
— O

e - -

PCS PCS
o

~ I I
¥




Copyright 1998 Lappset Group Ltd

% LAPPSET.

705375

FLORA DATE:  30.1.2018 2(2)
DET 1 DET 2
"‘v
XN o
/
WBEx /0
216/8,4 (900240)
(909256)
MEx 3D
(909855)
DET 3
Woxo0

(980107)

/x40

(980128)

DET 5 /x40

(980128)

(980123)

DET ©




Copyright Lappset Group Ltd

% LAPPSET.

705506

FLORA DATE: 9.4.2013 1(1)
(1) 705486 |res|(2) 905051 [ps|
2 6
@ 2| 6|
! @
45x120x660 | | @24/8.4 | |
(3) 909232 |pes|(4) 905066 [pcs|
6 | 6|
8x120 | | s3oH | |

660

120

909252
905051

905066
o




Copyright Lappset Group Ltd

% LAPPSET.

705511

FLORA DATE:  27.1.2021 1(1)
</\_> (2) 900240 Pes|
Al 4]
@8x70 | |
o =
Pes PCS|
Pes Pes|
Pes PCs|
Pes Pes|
N
DET 1 DET 2 PCS PCS

AN

8x/0

/05511

200

PCS

PCS




% LAPPSET.
DEEP FOUNDATION

FOOT

DATE: 13.3.2014

4A

Copyright Lappset Group Ltd

100

c 00




Copyright Lappset Group Ltd

% LAPPSET. FOOT

BETON FOUNDATION o

27.10.2015

(2) 905104 |pcs

)

M10




% LAPPSET.

FOOT

DEEP FOUNDATION DATE:  15.5.2018 1(1)
@ (D 909511 |pes|(2) 909519 |Pes|
1
909511 /911155 H
MTOx25 o ) 90x90x650 | | 50x380x380 | |
(909639) (3) 909637 [res|(4) 909638 [pcs|
4 8
@20/10.5 )
(909638) ~ \m# =
£ ! - -
N \\;%%} M10 220/10.5
S E () 909639 |rcs|(5) 905104 [pcs|
S 4] 4]
Miox25 | | M0 | |
/
OPTION FOOT
9095719 MT0O
(D 911155 |ees pes
(909637) & ]
90x90x650

Copyright Lappset Group Ltd




Copyright Lappset Group Ltd

% LAPPSET.

707665

FINNO DATE: 10.3.2016 1(1)
(1) 900240 |[pes|(2) 901570 [pcs|
4 2]
@8x70 | | 36x55x55 | |
(3) 980154 |pes|(4) 905086 |Pcs|
1 1
& =
024,13 | | @44,135 | |
(5) 905090 [pes|(6) 905115 |pes
1 1
pas | | @30 | |
(7) 909142 |pes|(8) 980160 [Pcs|
1 2
N Huom: Tolpan hattu tulee 1 ]
asentaa katon asentamisen @
jalkeen.
Note: Roof element is L |
assembled before top hat. M12x70 M8
DET 1 (9) 909852 |pcs| pos|
S~ ] 2 |
o — —
R M8x30
pes| eS|
DET 2 DET 3 DET 4
905115
M8x30
=~ M12x70 JJL .
= Q24153 \
i/ 905090 T 1
@ _— T
3x/0
@44 /135 M8
~— 9501800 901570 901570




Copyright Lappset Group Ltd

% LAPPSET.

FINNO

003894

DATE:

11.1.2007

1(1)

(® 900240

PCS

5x40

PCS PCS

PCS PCS

PCS PCS

(O 007120  [pcsfO 007121  [pcs

T T

DET 1 DET 2 (O 007122 |pesfD 007123 [pes
1 1

(O 007124 |pesfO 007125 [pcs

%




16.2.2021

LApp
Halite 178 ET Groy

10 PL
FINCARSVANIEN, td

Loy
gg;g«e% broup L1
PhOVANH

‘E}Sﬁ I'.J.:‘menm

123456
I Wi
F5675g

FSe7my F

e,
et a1

Tuotekyltti tulee tuotteen mukana yhdella seuraavista tavoista:

1) Metallinen tuotekyltti ja kiinnitysruuvit
- Kiinnita tuotekyltti ruuveilla tolppaan noin 2 metrin korkeuteen kuvan 1 mukaisesti.

2) Tuotekylttitarra
- Puhdista maalattu metalli- tai vaneripinta pdlysta ja kosteudesta. Liimaa tarra kuvan 2 mukaisesti.
- Huom. Al3 kiinnité tarraa karheapintaiseen laminaattiin tai maalattuun puuhun.

Var produktmarkning levereras pa ett av foljande satt:

1) Produktskylt i metall
- Fast skylten med de medféljande skruvarna

2) Sjalvhaftande produktetikett

- Rengor den pulverlackerade metallytan eller laminatytan sa att den blir fri frAn smuts och fukt. Fast etiketten enligt fig. 2.

- Obs! Fast ej etiketten pa detaljer med skrovlig yta eller pa malat tra.

Product label is delivered by one of following ways:

1) Metal product label and screws
- Fasten the label with screws.

2) Label sticker
- Clean the painted metal or plywood surface from dirt and moisture. Fasten the sticker as shown in the figure 2.
- Note. Do not attach the sticker to rough surfaced laminate or painted wood.

La plaque d’informations produit est livrée sous I'une de ces 3 formes :

1) Plaque métallique et vis
- Fixez la plaque a 'aide des vis.

2) Etiquette autocollante

- Avant de coller I'étiquette, nettoyez le composant métallique peint ou la plaque de contreplaqué, de toute saleté. La surface

doit étre seche (voir image 2).
- Attention, ne pas coller I'étiquette sur une surface lamellé-collée irréguliere ou sur du bois peint.

Die Auslieferung des Produktaufklebers erfolgt auf eine dieser Arten:

1) Produkt-Schild aus Metall incl. Schrauben
- Die Befestigung des Schildes erfolgt mittels der Schrauben.

2) Aufkleber

-Entfernen Sie zunachst Schmutz und Feuchtigkeit vom lackierten Metall bzw. von der Holzoberflache und bringen Sie den

Aufkleber wie im Bild oben rechts beschrieben auf den gesauberten Untergrund auf.
- Beachten Sie: Bringen Sie den Aufkleber nicht auf raues laminiertes oder lackiertes Holz an.

LAPPSET GROUP LTD P.O. Box 8146 | FIN-96101 Rovaniemi | Tel: 0207 750 100 | lappset@lappset.com | www.lappset.com



Copyright Lappset Group Ltd

% LAPPSET.

FINNO

705230

DATE: 6.6.2014

720

800

(1) 705210 [pes|(2) 903093 [pes|
jm 1] o]
| esxe0 | ]
PCS PCS
PCS PCS
PCS PCS
PCS PCS
PCS PCS
DET 1
©8x90
R






